

## General uniform approximation theory by multivariate singular integral operators

by GEORGE A. ANASTASSIOU (Memphis, TN)

**Abstract.** We study the uniform approximation properties of general multivariate singular integral operators on  $\mathbb{R}^N$ ,  $N \geq 1$ . We establish their convergence to the unit operator with rates. The estimates are pointwise and uniform. The established inequalities involve the multivariate higher order modulus of smoothness. We list the multivariate Picard, Gauss–Weierstrass, Poisson–Cauchy and trigonometric singular integral operators to which this theory can be applied directly.

**1. Introduction.** The rate of convergence of univariate singular integral operators has been studied earlier in [A], [AM1], [AM2], [AM3], [G], [MR], and these articles motivate the current work. Here we consider some very general multivariate singular integral operators on  $\mathbb{R}^N$ ,  $N \geq 1$ , and we study the degree of approximation to the unit operator with rates over smooth functions. We establish related inequalities involving the multivariate higher modulus of smoothness with respect to  $\|\cdot\|_\infty$ . The estimates are pointwise and uniform. See Theorems 3.1, 3.3. We mention particular operators that are covered by our theory. The discussed linear operators are not in general positive. Other motivations for our research come from [ADu1], [ADu2].

**2. Technical results.** For  $r \in \mathbb{N}$ ,  $m \in \mathbb{Z}_+$ , we define

$$\alpha_{j,r}^{[m]} := \begin{cases} (-1)^{r-j} \binom{r}{j} j^{-m} & \text{if } j = 1, \dots, r, \\ 1 - \sum_{j=1}^r (-1)^{r-j} \binom{r}{j} j^{-m} & \text{if } j = 0, \end{cases}$$

---

2010 *Mathematics Subject Classification*: Primary 26A15, 41A17, 41A25, 41A35; Secondary 26D15, 41A36.

*Key words and phrases*: multivariate singular integral operator, multivariate modulus of smoothness, rate of convergence, multivariate Picard, Gauss–Weierstrass, Poisson–Cauchy and trigonometric singular integral operators.

and

$$\delta_{k,r}^{[m]} := \sum_{j=1}^r \alpha_{j,r}^{[m]} j^k, \quad k = 1, \dots, m.$$

Notice that

$$\sum_{j=0}^r \alpha_{j,r}^{[m]} = 1$$

and

$$-\sum_{j=1}^r (-1)^{r-j} \binom{r}{j} = (-1)^r \binom{r}{0}.$$

We now define the multiple smooth singular integral operators

$$\theta_{r,n}^{[m]}(f; x_1, \dots, x_N) := \sum_{j=0}^r \alpha_{j,r}^{[m]} \int_{\mathbb{R}^N} f(x_1 + s_1 j, \dots, x_N + s_N j) d\mu_{\xi_n}(s),$$

where  $s := (s_1, \dots, s_N)$ ,  $x := (x_1, \dots, x_N) \in \mathbb{R}^N$ ;  $n, r \in \mathbb{Z}$ ,  $m \in \mathbb{Z}_+$ ,  $f : \mathbb{R}^N \rightarrow \mathbb{R}$  is a Borel measurable function,  $(\xi_n)_{n \in \mathbb{N}}$  is a bounded sequence of positive real numbers, and  $\mu_{\xi_n}$  is a probability Borel measure on  $\mathbb{R}^N$ .

EXAMPLE 2.1. The operators  $\theta_{r,n}^{[m]}$  are not in general positive. For example consider the function  $\varphi(u_1, \dots, u_N) = \sum_{i=1}^N u_i^2$  and take  $r = 2$ ,  $m = 3$ , and  $x_i = 0$ ,  $i = 1, \dots, N$ . Observe that  $\varphi \geq 0$ , but

$$\begin{aligned} \theta_{2,n}^{[3]}(\varphi; 0, 0, \dots, 0) &= \left( \sum_{j=1}^2 j^2 \alpha_{j,2}^{[3]} \right) \int_{\mathbb{R}^N} \left( \sum_{i=1}^N s_i^2 \right) d\mu_{\xi_n}(s) \\ &= (\alpha_{1,2}^{[3]} + 4\alpha_{2,2}^{[3]}) \int_{\mathbb{R}^N} \left( \sum_{i=1}^N s_i^2 \right) d\mu_{\xi_n}(s) \\ &= \left( -2 + \frac{1}{2} \right) \int_{\mathbb{R}^N} \left( \sum_{i=1}^N s_i^2 \right) d\mu_{\xi_n}(s) < 0, \end{aligned}$$

assuming that  $\int_{\mathbb{R}^N} (\sum_{i=1}^N s_i^2) d\mu_{\xi_n}(s) < \infty$ .

LEMMA 2.2. *The operators  $\theta_{r,n}^{[m]}$  preserve the constant functions in  $N$  variables.*

*Proof.* Let  $f(x_1, \dots, x_N) = c$ . Then

$$\theta_{r,n}^{[m]}(c; x_1, \dots, x_n) = \sum_{j=0}^r \alpha_{j,r}^{[m]} \int_{\mathbb{R}^n} c d\mu_{\xi_n}(s) = c. \quad \blacksquare$$

DEFINITION 2.3. Let  $f \in C_B(\mathbb{R}^N)$ , the space of all bounded and continuous functions on  $\mathbb{R}^N$ . Then the  $r$ th *multivariate modulus of smoothness* of

$f$  is given by (see, e.g., [AG])

$$\omega_r(f; h) := \sup_{\sqrt{u_1^2 + \dots + u_N^2} \leq h} \|\Delta_{u_1, \dots, u_N}^r(f)\|_\infty < \infty, \quad h > 0,$$

where  $\|\cdot\|_\infty$  is the sup-norm and

$$\begin{aligned} \Delta_u^r f(x) &:= \Delta_{u_1, \dots, u_N}^r f(x_1, \dots, x_N) \\ &= \sum_{j=0}^r (-1)^{r-j} \binom{r}{j} f(x_1 + ju_1, \dots, x_N + ju_N). \end{aligned}$$

Let  $m \in \mathbb{N}$  and let  $f \in C^m(\mathbb{R}^N)$ . In this article we assume that all partial derivatives of  $f$  of order  $m$  are bounded, i.e.

$$\left\| \frac{\partial^m f(\cdot, \cdot, \dots, \cdot)}{\partial x_1^{\alpha_1} \dots \partial x_N^{\alpha_N}} \right\|_\infty < \infty,$$

for all  $\alpha_j \in \mathbb{Z}^+$ ,  $j = 1, \dots, N$ , with  $\sum_{j=1}^N \alpha_j = m$ .

REMARK 2.4. We will write partial derivatives of  $f$  as  $f_\alpha := \frac{\partial^{|\alpha|} f}{\partial x^\alpha}$ ; here and throughout,

$$\alpha := (\alpha_1, \dots, \alpha_N), \quad \alpha_i \in \mathbb{Z}^+, \quad i = 1, \dots, N \quad \text{and} \quad |\alpha| := \sum_{i=1}^N \alpha_i.$$

Consider  $g_z(t) := f(x_0 + t(z - x_0))$ ,  $t \geq 0$ ,  $x_0, z \in \mathbb{R}^N$ . Then

$$g_z^{(j)}(t) = \left[ \left( \sum_{i=1}^N (z_i - x_{0i}) \frac{\partial}{\partial x_i} \right)^j f \right] (x_{01} + t(z_1 - x_{01}), \dots, x_{0N} + t(z_N - x_{0N}))$$

for all  $j = 0, 1, \dots, m$ .

We have the multivariate Taylor's formula ([ADr])

$$\begin{aligned} f(z_1, \dots, z_N) &= g_z(1) \\ &= \sum_{j=0}^m \frac{g_z^{(j)}(0)}{j!} + \frac{1}{(m-1)!} \int_0^1 (1-\theta)^{m-1} (g_z^{(m)}(\theta) - g_z^{(m)}(0)) d\theta. \end{aligned}$$

Notice  $g_z(0) = f(x_0)$ . Also for  $j = 0, 1, \dots, m$ , we have

$$g_z^{(j)}(0) = \sum_{|\alpha|=j} \frac{j!}{\prod_{i=1}^N \alpha_i!} \left( \prod_{i=1}^N (z_i - x_{0i})^{\alpha_i} \right) f_\alpha(x_0).$$

Furthermore

$$g_z^{(m)}(\theta) = \sum_{|\alpha|=m} \frac{m!}{\prod_{i=1}^N \alpha_i!} \left( \prod_{i=1}^N (z_i - x_{0i})^{\alpha_i} \right) f_\alpha(x_0 + \theta(z - x_0)), \quad 0 \leq \theta \leq 1.$$

We apply the above for

$$z = (z_1, \dots, z_N) = (x_1 + s_1 j, \dots, x_N + s_N j) = x + s j$$

and

$$x_0 = (x_{01}, \dots, x_{0N}) = (x_1, \dots, x_N) = x$$

to get

$$\begin{aligned} f(x_1 + s_1 j, \dots, x_N + s_N j) &= g_{x+s_j}(1) \\ &= \sum_{\tilde{j}=0}^m \frac{g_{x+s_j}^{(\tilde{j})}(0)}{\tilde{j}!} + \frac{1}{(m-1)!} \int_0^1 (1-\theta)^{m-1} (g_{x+s_j}^{(m)}(\theta) - g_{x+s_j}^{(m)}(0)) d\theta, \end{aligned}$$

where  $g_{x+s_j}(t) := f(x + t s j)$ . Notice  $g_{x+s_j}(0) = f(x)$ .

Also for  $\tilde{j} = 0, 1, \dots, m$  we have

$$g_{x+s_j}^{(\tilde{j})}(0) = \sum_{|\alpha|=\tilde{j}} \frac{\tilde{j}!}{\prod_{i=1}^N \alpha_i!} \left( \prod_{i=1}^N (s_i j)^{\alpha_i} \right) f_\alpha(x).$$

Furthermore we get, for  $0 \leq \theta \leq 1$ ,

$$g_{x+s_j}^{(m)}(\theta)/m! = \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \left( \prod_{i=1}^N (s_i j)^{\alpha_i} \right) f_\alpha(x + \theta(s j)).$$

For  $\tilde{j} = 1, \dots, m$  and  $|\alpha| = \tilde{j}$ , it will be proved in (2.2) that

$$c_{\alpha, n, \tilde{j}} := c_{\alpha, n} := \int_{\mathbb{R}^N} \prod_{i=1}^N s_i^{\alpha_i} d\mu_{\xi_n}(s_1, \dots, s_N) \in \mathbb{R}.$$

Consequently,

$$\sum_{\tilde{j}=1}^m \frac{\int_{\mathbb{R}^N} g_{x+s_j}^{(\tilde{j})}(0) d\mu_{\xi_n}(s)}{\tilde{j}!} = \sum_{\tilde{j}=1}^m j^{\tilde{j}} \sum_{|\alpha|=\tilde{j}} \frac{1}{\prod_{i=1}^N \alpha_i!} c_{\alpha, n} f_\alpha(x).$$

Next we observe that

$$\begin{aligned} &\frac{1}{(m-1)!} \int_{\mathbb{R}^N} \left( \int_0^1 (1-\theta)^{m-1} (g_{x+s_j}^{(m)}(\theta) - g_{x+s_j}^{(m)}(0)) d\theta \right) d\mu_{\xi_n}(s) \\ &= m j^m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \\ &\quad \times \int_{\mathbb{R}^N} \left( \prod_{i=1}^N s_i^{\alpha_i} \int_0^1 (1-\theta)^{m-1} [f_\alpha(x + \theta(s j)) - f_\alpha(x)] d\theta \right) d\mu_{\xi_n}(s). \end{aligned}$$

REMARK 2.5. We further notice that

$$\begin{aligned}
 \theta_{r,n}^{[m]}(f; x) - f(x) &= \sum_{j=0}^r \alpha_{j,r}^{[m]} \int_{\mathbb{R}^N} (f(x + sj) - f(x)) d\mu_{\xi_n}(s) \\
 &= \sum_{j=0}^r \alpha_{j,r}^{[m]} \\
 &\quad \times \int_{\mathbb{R}^N} \left[ \sum_{\tilde{j}=1}^m \frac{g_{x+sj}^{(\tilde{j})}(0)}{\tilde{j}!} + \frac{1}{(m-1)!} \int_0^1 (1-\theta)^{m-1} (g_{x+sj}^{(m)}(\theta) - g_{x+sj}^{(m)}(0)) d\theta \right] d\mu_{\xi_n}(s).
 \end{aligned}$$

That is,

$$\begin{aligned}
 \Delta_{r,n}^{[m]}(x) &:= \theta_{r,n}^{[m]}(f; x) - f(x) - \sum_{j=0}^r \alpha_{j,r}^{[m]} \left( \int_{\mathbb{R}^N} \left( \sum_{\tilde{j}=1}^m \frac{g_{x+sj}^{(\tilde{j})}(0)}{\tilde{j}!} \right) d\mu_{\xi_n}(s) \right) \\
 &= \frac{1}{(m-1)!} \sum_{j=0}^r \alpha_{j,r}^{[m]} \int_{\mathbb{R}^N} \left( \int_0^1 (1-\theta)^{m-1} (g_{x+sj}^{(m)}(\theta) - g_{x+sj}^{(m)}(0)) d\theta \right) d\mu_{\xi_n}(s) =: R_{r,n}^{[m]}.
 \end{aligned}$$

We observe that

$$\begin{aligned}
 \Delta_{r,n}^{[m]}(x) &= \theta_{r,n}^{[m]}(f; x) - f(x) - \sum_{j=1}^r \alpha_{j,r}^{[m]} \sum_{\tilde{j}=1}^m j^{\tilde{j}} \left( \sum_{|\alpha|=\tilde{j}} \frac{c_{\alpha,n} f_{\alpha}(x)}{\prod_{i=1}^N \alpha_i!} \right) \\
 &= \theta_{r,n}^{[m]}(f; x) - f(x) - \sum_{\tilde{j}=1}^m \left( \sum_{j=1}^r \alpha_{j,r}^{[m]} j^{\tilde{j}} \right) \left( \sum_{|\alpha|=\tilde{j}} \frac{c_{\alpha,n} f_{\alpha}(x)}{\prod_{i=1}^N \alpha_i!} \right) \\
 &= \theta_{r,n}^{[m]}(f; x) - f(x) - \sum_{\tilde{j}=1}^m \delta_{\tilde{j},r}^{[m]} \left( \sum_{|\alpha|=\tilde{j}} \frac{c_{\alpha,n} f_{\alpha}(x)}{\prod_{i=1}^N \alpha_i!} \right).
 \end{aligned}$$

REMARK 2.6. We see that

$$\begin{aligned}
 R_{r,n}^{[m]} &= m \sum_{j=1}^r \alpha_{j,r}^{[m]} j^m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \\
 &\quad \times \int_{\mathbb{R}^N} \left( \prod_{i=1}^N s_i^{\alpha_i} \int_0^1 (1-\theta)^{m-1} (f_{\alpha}(x + \theta(sj)) - f_{\alpha}(x)) d\theta \right) d\mu_{\xi_n}(s) \\
 &= m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \\
 &\quad \times \int_{\mathbb{R}^N} \left( \prod_{i=1}^N s_i^{\alpha_i} \int_0^1 (1-\theta)^{m-1} \sum_{j=1}^r \alpha_{j,r}^{[m]} j^m (f_{\alpha}(x + \theta(sj)) - f_{\alpha}(x)) d\theta \right) d\mu_{\xi_n}(s)
 \end{aligned}$$

$$\begin{aligned}
&= m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \int_{\mathbb{R}^N} \left( \prod_{i=1}^N s_i^{\alpha_i} \int_0^1 (1-\theta)^{m-1} \right. \\
&\quad \left. \times \left[ \sum_{j=1}^r (-1)^{r-j} \binom{r}{j} f_\alpha(x + \theta(sj)) + (-1)^r \binom{r}{0} f_\alpha(x) \right] d\theta \right) d\mu_{\xi_n}(s) \\
&= m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \int_{\mathbb{R}^N} \left( \prod_{i=1}^N s_i^{\alpha_i} \int_0^1 (1-\theta)^{m-1} \right. \\
&\quad \left. \times \left[ \sum_{j=0}^r (-1)^{r-j} \binom{r}{j} f_\alpha(x + \theta(sj)) \right] d\theta \right) d\mu_{\xi_n}(s).
\end{aligned}$$

We have proved that the error or remainder of approximation takes the form

$$\begin{aligned}
(2.1) \quad R_{r,n}^{[m]} &= m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \\
&\quad \times \int_{\mathbb{R}^N} \left( \prod_{i=1}^N s_i^{\alpha_i} \int_0^1 (1-\theta)^{m-1} (\Delta_{\theta s}^r f_\alpha(x)) d\theta \right) d\mu_{\xi_n}(s).
\end{aligned}$$

We further make

REMARK 2.7. We see that

$$\begin{aligned}
|R_{r,n}^{[m]}| &\stackrel{(2.1)}{\leq} m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \\
&\quad \times \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \int_0^1 (1-\theta)^{m-1} |\Delta_{\theta s}^r f_\alpha(x)| d\theta \right) d\mu_{\xi_n}(s) \\
&\leq m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \int_0^1 (1-\theta)^{m-1} \|\Delta_{\theta s}^r f_\alpha\|_\infty d\theta \right) d\mu_{\xi_n}(s) \\
&\leq m \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \\
&\quad \times \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \int_0^1 (1-\theta)^{m-1} \omega_r(f_\alpha, \theta \|s\|_2) d\theta \right) d\mu_{\xi_n}(s) \\
&\leq \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \omega_r(f_\alpha, \|s\|_2) \right) d\mu_{\xi_n}(s).
\end{aligned}$$

So far we have proved

$$\begin{aligned} |R_{r,n}^{[m]}| &\leq \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \omega_r(f_\alpha, \|s\|_2) \right) d\mu_{\xi_n}(s) \\ &= \sum_{|\alpha|=m} \frac{1}{\prod_{i=1}^N \alpha_i!} \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \omega_r \left( f_\alpha, \xi_n \frac{\|s\|_2}{\xi_n} \right) \right) d\mu_{\xi_n}(s). \end{aligned}$$

Using the fact that  $\omega_r(f; \lambda u) \leq (1 + \lambda)^r \omega_r(f; u)$  for  $\lambda, u > 0$ , we get

$$|R_{r,n}^{[m]}| \leq \sum_{|\alpha|=m} \frac{\omega_r(f_\alpha, \xi_n)}{\prod_{i=1}^N \alpha_i!} \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \right) \left( 1 + \frac{\|s\|_2}{\xi_n} \right)^r d\mu_{\xi_n}(s).$$

REMARK 2.8. Notice that for  $|\alpha| = m$ ,

$$\int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \right) d\mu_{\xi_n}(s) \leq \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \right) \left( 1 + \frac{\|s\|_2}{\xi_n} \right)^r d\mu_{\xi_n}(s) < \infty,$$

under the assumption of Theorem 3.1 below. Hence

$$|c_{\alpha,n}| \leq \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \right) d\mu_{\xi_n}(s) < \infty$$

for  $|\alpha| = m$ . Hence also

$$(2.2) \quad \int_{\mathbb{R}^N} |s_i|^m d\mu_{\xi_n}(s) < \infty, \quad i = 1, \dots, N.$$

Let  $1 \leq \tilde{j} \leq m - 1$ . Then

$$\int_{\mathbb{R}^N} |s_i|^{\tilde{j}} d\mu_{\xi_n}(s) \leq \left( \int_{\mathbb{R}^N} (|s_i|^{\tilde{j}})^{m/\tilde{j}} d\mu_{\xi_n}(s) \right)^{\tilde{j}/m} = \left( \int_{\mathbb{R}^N} |s_i|^m d\mu_{\xi_n}(s) \right)^{\tilde{j}/m} < \infty.$$

For  $\tilde{j} = 1, \dots, m - 1$  and  $|\alpha| = \tilde{j}$  we have  $\sum_{i=1}^N \alpha_i / \tilde{j} = 1$ . Hence

$$\begin{aligned} \int_{\mathbb{R}^N} \prod_{i=1}^N |s_i|^{\alpha_i} d\mu_{\xi_n}(s) &\leq \prod_{i=1}^N \left( \int_{\mathbb{R}^N} (|s_i|^{\alpha_i})^{\tilde{j}/\alpha_i} d\mu_{\xi_n}(s) \right)^{\alpha_i/\tilde{j}} \\ &= \prod_{i=1}^N \left( \int_{\mathbb{R}^N} |s_i|^{\tilde{j}} d\mu_{\xi_n}(s) \right)^{\alpha_i/\tilde{j}} < \infty. \end{aligned}$$

**3. Main results.** Based on the above Remarks 2.4–2.8 we present

**THEOREM 3.1.** *Let  $m \in \mathbb{N}$ ,  $f \in C^m(\mathbb{R}^N)$ ,  $N \geq 1$ ,  $x \in \mathbb{R}^N$ . Assume  $\left\| \frac{\partial^m f(\cdot, \dots, \cdot)}{\partial x_1^{\alpha_1} \dots \partial x_N^{\alpha_N}} \right\|_\infty < \infty$  for all  $\alpha_j \in \mathbb{Z}^+$ ,  $j = 1, \dots, N$ , with  $|\alpha| := \sum_{j=1}^N \alpha_j = m$ .*

Let  $\mu_{\xi_n}$  be a Borel probability measure on  $\mathbb{R}^N$ ,  $(\xi_n)_{n \in \mathbb{N}}$  a bounded sequence of positive real numbers.

Assume that for all  $\alpha$  with  $|\alpha| = m$  we have

$$u_{\xi_n} := \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \right) \left( 1 + \frac{\|s\|_2}{\xi_n} \right)^r d\mu_{\xi_n}(s) < \infty.$$

For  $\tilde{j} = 1, \dots, m$  and  $|\alpha| = \tilde{j}$ , set

$$c_{\alpha, n} := c_{\alpha, n, \tilde{j}} := \int_{\mathbb{R}^N} \prod_{i=1}^N s_i^{\alpha_i} d\mu_{\xi_n}(s_1, \dots, s_N).$$

Then

$$(i) \quad (3.1) \quad E_{r, n}^{[m]}(x) := \left| \theta_{r, n}^{[m]}(f; x) - f(x) - \sum_{\tilde{j}=1}^m \delta_{\tilde{j}, r}^{[m]} \left( \sum_{|\alpha|=\tilde{j}} \frac{c_{\alpha, n, \tilde{j}} f_{\alpha}(x)}{\prod_{i=1}^N \alpha_i!} \right) \right| \\ \leq \sum_{|\alpha|=m} \frac{\omega_r(f_{\alpha}, \xi_n)}{\prod_{i=1}^N \alpha_i!} \int_{\mathbb{R}^N} \left( \prod_{i=1}^N |s_i|^{\alpha_i} \right) \left( 1 + \frac{\|s\|_2}{\xi_n} \right)^r d\mu_{\xi_n}(s)$$

for all  $x \in \mathbb{R}^N$ .

(ii)  $\|E_{r, n}^{[m]}\|_{\infty} \leq$  Right hand side of (3.1).

If  $\xi_n \rightarrow 0$ , as  $n \rightarrow \infty$ , and  $u_{\xi_n}$  is uniformly bounded, then we obtain  $\|E_{r, n}^{[m]}\|_{\infty} \rightarrow 0$  with rates of convergence.

(iii) Moreover

$$\|\theta_{r, n}^{[m]}(f) - f\|_{\infty} \leq \sum_{\tilde{j}=1}^m |\delta_{\tilde{j}, r}^{[m]}| \left( \sum_{|\alpha|=\tilde{j}} \frac{|c_{\alpha, n, \tilde{j}}| \|f_{\alpha}\|_{\infty}}{\prod_{i=1}^N \alpha_i!} \right) + \text{Right hand side of (3.1)}$$

if  $\|f_{\alpha}\|_{\infty} < \infty$  for all  $\alpha$  with  $|\alpha| = \tilde{j}$ ,  $\tilde{j} = 1, \dots, m$ . Furthermore, if  $\xi_n \rightarrow 0$  as  $n \rightarrow \infty$ , assuming that  $c_{\alpha, n, \tilde{j}} \rightarrow 0$ , while  $u_{\xi_n}$  is uniformly bounded, we conclude that

$$\|\theta_{r, n}^{[m]}(f) - f\|_{\infty} \rightarrow 0$$

with rates.

Now we consider the case  $m = 0$ .

REMARK 3.2. Here  $f \in C_B(\mathbb{R}^N)$  (bounded and continuous functions). We observe that

$$\theta_{r, n}^{[0]}(f; x) - f(x) = \sum_{j=0}^r \alpha_{j, r}^{[0]} \int_{\mathbb{R}^N} (f(x + js) - f(x)) d\mu_{\xi_n}(s) \\ = \int_{\mathbb{R}^N} \left( \sum_{j=0}^r \alpha_{j, r}^{[0]} f(x + js) - \left( \sum_{j=0}^r \alpha_{j, r}^{[0]} \right) f(x) \right) d\mu_{\xi_n}(s)$$



$$\begin{aligned}
 &= \int_{\mathbb{R}^N} \left( \sum_{j=1}^r \alpha_{j,r}^{[0]} f(x + js) - \left( \sum_{j=1}^r \alpha_{j,r}^{[0]} \right) f(x) \right) d\mu_{\xi_n}(s) \\
 &= \int_{\mathbb{R}^N} \left( \sum_{j=1}^r (-1)^{r-j} \binom{r}{j} f(x + js) - \left( \sum_{j=1}^r (-1)^{r-j} \binom{r}{j} \right) f(x) \right) d\mu_{\xi_n}(s) \\
 &= \int_{\mathbb{R}^N} \left( \sum_{j=1}^r (-1)^{r-j} \binom{r}{j} f(x + js) + (-1)^r \binom{r}{0} f(x) \right) d\mu_{\xi_n}(s) \\
 &= \int_{\mathbb{R}^N} \left( \sum_{j=0}^r (-1)^{r-j} \binom{r}{j} f(x + js) \right) d\mu_{\xi_n}(s) = \int_{\mathbb{R}^N} (\Delta_s^r f(x)) d\mu_{\xi_n}(s).
 \end{aligned}$$

Consequently,

$$\begin{aligned}
 |\theta_{r,n}^{[0]}(f; x) - f(x)| &\leq \int_{\mathbb{R}^N} |\Delta_s^r f(x)| d\mu_{\xi_n}(s) \leq \int_{\mathbb{R}^N} \|\Delta_s^r f\|_{\infty} d\mu_{\xi_n}(s) \\
 &\leq \int_{\mathbb{R}^N} \omega_r(f, \|s\|_2) d\mu_{\xi_n}(s) = \int_{\mathbb{R}^N} \omega_r\left(f, \xi_n \frac{\|s\|_2}{\xi_n}\right) d\mu_{\xi_n}(s) \\
 &\leq \omega_r(f, \xi_n) \int_{\mathbb{R}^N} \left(1 + \frac{\|s\|_2}{\xi_n}\right)^r d\mu_{\xi_n}(s).
 \end{aligned}$$

Based on the above we present

**THEOREM 3.3.** *Let  $f \in C_B(\mathbb{R}^N)$ ,  $N \geq 1$ . Then*

$$\|\theta_{r,n}^{[0]} f - f\|_{\infty} \leq \left( \int_{\mathbb{R}^N} \left(1 + \frac{\|s\|_2}{\xi_n}\right)^r d\mu_{\xi_n}(s) \right) \omega_r(f, \xi_n),$$

under the assumption

$$\Phi_{\xi_n} := \int_{\mathbb{R}^N} \left(1 + \frac{\|s\|_2}{\xi_n}\right)^r d\mu_{\xi_n}(s) < \infty.$$

If  $\xi_n \rightarrow 0$  as  $n \rightarrow \infty$ , and  $\Phi_{\xi_n}$  are uniformly bounded, we obtain

$$\|\theta_{r,n}^{[0]} f - f\|_{\infty} \rightarrow 0$$

with rates.

Let all entities be as above. We define the following specific operators:

(i) The general multivariate Picard singular integral operators:

$$\begin{aligned}
 P_{r,n}^{[m]}(f; x_1, \dots, x_N) &:= \frac{1}{(2\xi_n)^N} \sum_{j=0}^r \alpha_{j,r}^{[m]} \\
 &\times \int_{\mathbb{R}^N} f(x_1 + s_1 j, \dots, x_N + s_N j) e^{-\sum_{i=1}^N |s_i|/\xi_n} ds_1 \dots ds_N.
 \end{aligned}$$

Notice that

$$\frac{1}{(2\xi_n)^N} \int_{\mathbb{R}^N} e^{-\sum_{i=1}^N |s_i|/\xi_n} ds_1 \dots ds_N = 1$$

(see [A]).

(ii) The general multivariate Gauss–Weierstrass singular integral operators:

$$\begin{aligned} W_{r,n}^{[m]}(f; x_1, \dots, x_N) &:= \frac{1}{(\sqrt{\pi}\xi_n)^N} \sum_{j=0}^r \alpha_{j,r}^{[m]} \\ &\times \int_{\mathbb{R}^N} f(x_1 + s_1 j, \dots, x_N + s_N j) e^{-\sum_{i=1}^N s_i^2/\xi_n} ds_1 \dots ds_N. \end{aligned}$$

Notice that

$$\frac{1}{(\sqrt{\pi}\xi_n)^N} \int_{\mathbb{R}^N} e^{-\sum_{i=1}^N s_i^2/\xi_n} ds_1 \dots ds_N = 1$$

(see [AM1]).

(iii) The general multivariate Poisson–Cauchy singular integral operators:

$$\begin{aligned} U_{r,n}^{[m]}(f; x_1, \dots, x_N) &:= W_n^N \sum_{j=0}^r \alpha_{j,r}^{[m]} \\ &\times \int_{\mathbb{R}^N} f(x_1 + s_1 j, \dots, x_N + s_N j) \prod_{i=1}^N \frac{1}{(s_i^{2\alpha} + \xi_n^{2\alpha})^\beta} ds_1 \dots ds_N, \end{aligned}$$

with  $\alpha \in \mathbb{N}$ ,  $\beta > \frac{1}{2\alpha}$ , and

$$W_n := \frac{\Gamma(\beta)\alpha\xi_n^{2\alpha\beta-1}}{\Gamma(\frac{1}{2\alpha})\Gamma(\beta - \frac{1}{2\alpha})}$$

(see [AM2]). Notice that

$$W_n^N \int_{\mathbb{R}^N} \prod_{i=1}^N \frac{1}{(s_i^{2\alpha} + \xi_n^{2\alpha})^\beta} ds_1 \dots ds_N = 1$$

(see [AM2], [Z, p. 397, formula 595]).

(iv) The general multivariate trigonometric singular integral operators:

$$\begin{aligned} T_{r,n}^{[m]}(f; x_1, \dots, x_N) &:= \lambda_n^{-N} \sum_{j=0}^r \alpha_{j,r}^{[m]} \\ &\times \int_{\mathbb{R}^N} f(x_1 + s_1 j, \dots, x_N + s_N j) \prod_{i=1}^N \left( \frac{\sin(s_i/\xi_n)}{s_i} \right)^{2\beta} ds_1 \dots ds_N, \end{aligned}$$

where  $\beta \in \mathbb{N}$ , and

$$\lambda_n := 2\xi_n^{1-2\beta} \pi (-1)^\beta \beta \sum_{k=1}^{\beta} (-1)^k \frac{k^{2\beta-1}}{(\beta-k)! (\beta+k)!}$$

(see [AM3], [E, p. 210, item 1033]). Notice that

$$\lambda_n^{-N} \int_{\mathbb{R}^N} \prod_{i=1}^N \left( \frac{\sin(s_i/\xi_n)}{s_i} \right)^{2\beta} ds_1 \dots ds_N = 1.$$

One can apply Theorems 3.1 and 3.3 to the operators  $P_{r,n}^{[m]}$ ,  $W_{r,n}^{[m]}$ ,  $U_{r,n}^{[m]}$ ,  $T_{r,n}^{[m]}$  (special cases of  $\theta_{r,n}^{[m]}$ ) and derive interesting results. We intend to do that in a future article.

### References

- [A] G. Anastassiou, *Basic convergence with rates of smooth Picard singular integral operators*, J. Comput. Anal. Appl. 8 (2006), 313–334.
- [ADr] G. Anastassiou and S. S. Dragomir, *On some estimates of the remainder in Taylor's formula*, J. Math. Anal. Appl. 263 (2001), 246–263.
- [ADu1] G. Anastassiou and O. Duman, *Statistical approximation by double Picard singular integral operators*, Studia Univ. Babeş-Bolyai Math. 55 (2010), 3–20.
- [ADu2] G. Anastassiou and O. Duman, *Uniform approximation in statistical sense by double Gauss–Weierstrass singular integral operators*, Nonlinear Funct. Anal. Appl., to appear.
- [AG] G. Anastassiou and S. Gal, *Approximation Theory*, Birkhäuser, Boston, 2000.
- [AM1] G. Anastassiou and R. Mezei, *Uniform convergence with rates of smooth Gauss–Weierstrass singular integral operators*, Appl. Anal. 88 (2009), 1015–1037.
- [AM2] —, —, *Uniform convergence with rates of smooth Poisson–Cauchy type singular integral operators*, Math. Comput. Modelling 50 (2009), 1553–1570.
- [AM3] —, —, *Uniform convergence with rates of general singular operators*, submitted, 2010.
- [E] J. Edwards, *A Treatise on the Integral Calculus*, Vol. II, Chelsea, New York, 1954.
- [G] S. G. Gal, *Remark on the degree of approximation of continuous functions by singular integrals*, Math. Nachr. 164 (1993), 197–199.
- [MR] R. N. Mohapatra and R. S. Rodriguez, *On the rate of convergence of singular integrals for Hölder continuous functions*, *ibid.* 149 (1990), 117–124.
- [Z] D. Zwillinger, *CRC Standard Mathematical Tables and Formulae*, 30th ed., Chapman & Hall/CRC, Boca Raton, 1995.

George A. Anastassiou  
 Department of Mathematical Sciences  
 University of Memphis  
 Memphis, TN 38152, U.S.A.  
 E-mail: ganastss@memphis.edu

Received 1.12.2010  
 and in final form 11.10.2011

(2334)

